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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

9.

Some vegetarians are not just indifferent to meat; they have a/an —---- toward it.

1) immorality 2) tendency 3) antipathy 4) commitment

A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --——-----—-- in some people about the benefits of technology.

1) ambivalence 2) distinction 3) encouragement  4) compromise

My niece has a -------—---- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless

The singer's mellifluous voice Kkept the audience --—--—----- for two hours.

1) disputed 2) disregarded 3) frustrated 4) enchanted

His family, relatives, and friends still cling to the hope that Jeff will someday -
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

Logan has been working long hours, but that is no excuse for him to be --—--eeeeem to
customers,

1) ingenious 2) intimate 3) discourteous 4) redundant
Although he was found --------m-- , he continued to assert that he was innocent and had
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

The old sailor's skin had become wrinkled and ----—------- from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

The promoters conducted a survey to study the ---------—— of the project before investing
their money in it.

1) impression 2) visibility 3) feasibility 4) preparation
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10- That is 100 —=—veeeeen an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ====aeaaee-
spatial reasoning. and the results were published in Narure. They gave research
participants one of three standard tests of abstract spatial reasoning (12) -—--eeee- ---
cach of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart. verbal relaxation instructions, and (13) ==——memmmeemm . They found a temporary
enhancement of spatial-reasoning, (14) ==ee=eaeme -- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) —=—eemmemmm the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) after they had experienced
3) to be experiencing 4) to experience

13- 1)silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Historically, intermodal transport using liner ships started as a bypass route using land
transport before the opening to traffic of the Suez Canal in 1869 and the Panama Canal
in 1914, Compared with the Cape of Good Hope (Africa) sea route. the British
shipping company. Peninsular Steam Navigation Company. greatly reduced the
number of days travel by way of the Mediterrancan Sea, then transhipment at
Alexandria (Egypt). then by land transport to Suez and by sea transport from Suez to
Bombay (India). Similarly, the US shipping company Pacific Mail Steamship
Corporation connected the various ports along the Pacific Coast and the West Coast of
North America by using land transport between Panama and Colon.

Embarking on a modern intermodal transport system needed transport devices
which followed international standards. Although various transport devices were
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already developed like transport containers and trailers, the pioneer who introduced the
container connected with today’s internationally standardized containers was Malcolm
McLean, who was president of a trucking company. McLean conducted a transport
experiment using containers, trailers, and a remodelled ship Ideal X to and from New
York and Houston in 1956. Soon afterwards, Sea-Land Services Inc. was established,
regular container transport began, and intense competition took place because other
shipping companies like Matson Line started similar services. They also began to ply
container ships along international routes, and containerization of international
maritime transport started. The world’s major liner companies began to acquire
container vessels and containerization began to spread rapidly.

The most important benefit of containerization is in the reduction of terminal costs.
Machine loading and unloading by gantry crane and straddle carrier has become
possible by standardizing the size of the container. Manpower was greatly reduced,
and loading and unloading was converted from a labour-intensive industry to a capital-
intensive industry. As a consequence, dockworkers were deeply affected by
unemployment.

How was the Pacific Mail Steamship Corporation servicing the US ports?
1) By land transport between Panama and Colon

2) Along the Pacific Coast and the West Coast

3) Through connecting various roads

4) By sea transport from Suez to Bombay

Who was the inventor of containerization?

1) Malcolm McLean 2) Container

3) Pioneer 4) Ideal X

What was the final destination of Peninsular Steam Navigation Company bypass route
using land transport before opening of Suez and Panama Canals?

1) Suez 2) Bombay

3) Alexandria 4) Cape of Good Hope
What was directly related to using standard container size?

1) Unemployment of technicians

2) The increase of manpower

3) Additional terminal costs

4) Loading and discharging by gantry crane and straddle carrier

What was the first company offering liner services?

1) Sea-L.and Services Inc. 2) Ideal X
3) Trucking company 4) Matson Line
PASSAGE 2:

The integration of shipping companies in the transportation supply chain may be
regarded as a significant strategy in the effort to fulfil demand requirements and
maintain the viability of the companies in the contemporary environment.

The growth of seaborne trade during the last decades reflects the coalescent markets
in the world. The geographic separation of supply and demand has raised the
expectation towards transportation services. Keeping up with the growth of global
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seaborne commodity demand was considered as one of the biggest challenges. In
addition to the satisfaction of demand. shippers and consignees have become more
sophisticated and thus more demanding with respect to the quality of the transportation
service. Users of freight transportation services provided by shipping companies
expect fast and reliable service at a competitive cost and covering a wide geographical
network. The consequent growth of shipping companies, either organic or through
mergers and acquisitions, aimed at meeting the demand and fulfilling the
aforementioned requirements.

The downside of this development could be observed in the 2009 economic crisis
when the global maritime service industry suffered a sharp decline in demand.
Suddenly, the period of growth with huge investments in vessels and service expansion
had to be changed into capacity adjustment due to the market decline. This has reminded
companies and professionals of the key characteristics of the freight transport industry,
viz. competitive intensity, market volatility and cash-flow uncertainty.

Integration and consolidation have characterized the container shipping industry
primarily as a means to gain economies of scale and cost efficiencies. In previous
years, liner companies invested in increasing vessel capacities in order to maintain
profit margins. Considering the large investments in container vessels, only a high
utilization of the companies’ assets guarantees profitability. Consequently, the slump
in maritime trade affects the profitability of liner shipping companies.

Vessel capacity and utilization provides only one possibility for competitiveness.
Possible ways to elude this situation are to minimize investments in capital-intensive
vessels or to avoid a high dependency on liner services by diversification of a
company’s service portfolio and the integration of logistics services respectively.
Vertical integration is characterizing the modern transport industry, as transport
businesses are gearing up towards global logistics services based on the principle of
the *one-stop shop’. In order to accomplish this goal, it is necessary to integrate port,
hinterland transportation and logistics management services. It follows that strategic
aspects of vertical integration are of significant importance in the contemporary
shipping industry.

How can the principle of the ‘one-stop shop’ be achieved?

1) By activities of modern transport industry

2) By activities of global logistics services

3) By integration of transport services

4) By integration of different ports

According paragraph 1, what was the demand of shipping company users?

1) Freight transportation services 2) Coverage across a country

3) Fast and reliable services 4) Being treated with respect

Which of the following was NOT a lessen of 2009 economic crisis for companies and
professionals active in freight transport industry?

1) Cash-flow insecurity 2) Competitive intensity
3) Market instability 4) Capacity uncertainty
What does the word “coalescent markets” in paragraph 2 refer to?

1) coal-like markets 2) coal only markets

3) combined markets 4) contaminated markets



.}."’n)' ww,lf Q,n}TMQM T fé«nﬁ)&w

¥ axiwo 812A MFF) oS e pboCupas

25-

26-

What happened to the global maritime service industry in 2009?

1) Severe demand reduction 2) Sharp economic crisis
3) Vast development 4) Fast growth
PASSAGE 3:

Dry bulk shipping logistics is confronted with three challenges: sustainable
development, break bulk trade and containerization. The environment has become an
unavoidable consideration in dry bulk shipping. While being perceived as ‘green’,
maritime transport still has an impact on the environment. Efforts are made by the
shipping industry to comply with air and water pollution legislation through low
sulphur fuel and efficient engines. The objective is to reduce the environmental
footprint of vessels by restricting emissions and improving fuel consumption.
Deepening channels, extending wharves and enlarging stockyards by terminal
operators and port authorities require environmental impact assessment and the
adoption of mitigation measures. Remediation measures are expensive even when port
development is judged compatible with environmental considerations.

Climate change predictions suggest significant opportunities for shipping, including
longer navigation seasons, higher precipitation resulting in more run-off and deeper
channels. In sharp contrast, there are potential negative externalities including greater
precipitation variability, which, with higher rates of evaporation in the warmer summers.
could lead to low water during certain seasons. Managing the growth of dry bulk traffic
with the environmental constraints being placed on fleet and port infrastructures is likely
to be one of the greatest challenges on the future expansion of dry bulk shipping
logistics.

The market segment displaying the highest potential for growth in dry bulk
shipping is break bulk including hazardous materials, waste management and
recycling business. One of the important activities of maritime trade concerns the
movement of heavy chemical products such as sulphuric acid. petrochemical products
and coal-tar products. But several industrial activities produce dry hazardous
substances such as asbestos. heavy metals and hydrocarbon products. Societies are
creating significant volumes of organic waste that is being considered as source of
energy (i.e. biomass). Several countries have introduced regulations forcing businesses
to consider lifecycle factors in their overall operations where returns (i.e. tyres.
batteries, household appliances etc.) are stripped. reconditioned and component parts
recycled. The movement of dry hazardous products. organic waste and returns
constitutes a potentially promising sector for the dry bulk shipping industry since these
products can be carried as shipment of a single freight commodity, display low value
added and are not subject to just-in-time production methods.

All of the following are the reasons why the movement of organic waste is considered as
a promising sector for the dry bulk shipping industry EXCEPT ----eeeeev,

1) it can be carried as a single commodity

2) it displays low value added

3) it is not subjected to JIT

4) it uses specific production methods
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What are the impacts of using low sulphur fuel and efficient engines?

1) Causing air and water pollution

2) Increasing air and water pollution

3) Stabilizing air and water pollution

4) Decreasing air and water pollution

What is the main challenge of the future development of dry bulk shipping logistics?
1) Longer navigation seasons

2) Environmental constraints

3) Higher rates of evaporation

4) Greater precipitation variability

What are the port operators’ activities that require environmental impact assessment?
1) Remediation measures

2) Infrastructure developments

3) Environmental considerations

4) Adoption of mitigation measures

In the text, coal-tar goods are categorized under —----eeeeuu?
1) containerized cargo 2) general cargo
3) chemical products 4) bulk cargo
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